
 

 

 

 

 

                      
        

  

  أآ
� �	�ر�	م وا��
وف ا���اد ا���
�� ا�
	���/   أ – 1   
  

............................  ..... : ���
 و!�ة و����
   و+*�(ن '&ءا $# ا��"�
07  ,4             : ...............................................................................................................................................  


اأر��(ن و.-*� :   .................................��  
   و ا��62أآ
� ا���اد ا���
�� �45 123 ��د آ*
ي/ ب 

0, 06  =               

56 ,8 =               

   =      
1000

2045
               

  أ:9 وأ78&   - 2
 524 , 53+ (467,76–334,4)              

52× 76 ,08               

 5175               ׃25 

�	 +&ا���	 – 3�+
+ ��
  أر+� ا���اد ا���
  

              367, 54;     376, 99     ;    367,45    ;     366, 999     ; 367,299     

  
4 – 1�)�
  ا�

                                             
 4 q +3,5 kg  =  ………g = …………  t  

          

                              34, 5 dal   =  ……….  hl  = …………. l 

  
5 -  	
� �

� ��� 5dal 16 ,����ي ���� ����   .hl 1,15 �� ا


� ؟   - أ��"�  آ& ���ا �%# $# ا

�  -  ب$ �)

� dal 12 +& أ*��"���� آ& ���ا أ-", $# ا�  ؟ �� ا

 

   +& 19��5 �ـــ t 4,75  وزن �415. وه# $1ر/. -   6         

= ا��ا4> 50 -                 >� kg 64 آ
= �� ا�?<� وزن ا

                    -  100 �� =

@  آAا4>  د��
= ا>�  kg 50وزن ا

   -   40 �� =

= ا��ا4> ا�D>س   آ>�  kg 50وزن ا

  

�. ب  $	ه= –  أ �E��  tآ�
.  ا


� +�E� أآ�F ��  –ب G�?+ H ة�G�A ور $�ق�E�
� �Lا�K ؟t15ه�  �E<�19 ا�   

  

  

 ا�ـ-A!Bـ� ا?دارة ا�ب أو ا�(�=

 

 

 

 

  

 

Cــــــ�Dا: ....................................................................  
Eر�ـ	ـ
  : ا�ـ

 : ا�ــGــ(ج

 A          ا�
�اI=ا�
ا���:  ا�ـ-*
(ى

20  

  

1.5 

1.5 

1.5 

1.5 

1 

1.5 



  

  

 

 7 –    

  CS إ$Q ا��7ول ا�
	�= أ�N!D  O5G ا��12-أ     

        

 vة ا�-*	!� �	�(!� uا�-*	!� �	�(!�ة   

      ا��12

 


6G8 O� 1�T ا�-*	!� $9 ا��12 أ�O5G –ب         *$ C�أر  

  

  



 

 

 

 

 

                      
        

  

  أآ
� �	�ر�	م وا��
وف ا���اد ا���
�� ا�
	���/   أ – 1   
  

............................  ..... :�
 و+�ة و()�� و'&�%ن #"ءا  � ا���� �&,-  
 08,  3            : ...............................................................................................................................................  

  أر��� و121%ن ��
ا:  ...................................
  أآ
� ا���اد ا���
�� �89 567 ��د آ&
ي/ ب 

0, 07  =               

65 ,3 =               

 =             
1000

1031
                 

  أ=> وأ;:"   - 2
 425, 35 + (376 ,75 –234 ,3)              

25 × 67 ,08               

   7245              ׃35 

'�)	 '"ا���	 – 3' ��
  أر'� ا���اد ا���
  

              257,64    ;     275, 99     ;    257,46    ;     256 , 999     ; 257 ,299     

  
4 – 5�%�
  ا�

                                             
 3 q + 2,5 kg  =  ………g = …………  t  

          

                              43, 5 dal   =  ……….  hl  = …………. l 

  
5 -  	
� �

� ��� 5dal 16 ,����ي ���� ����   .hl 1,15 �� ا


� ؟   - أ��"�  آ& ���ا �%# $# ا

�  -  ب$ �)

� dal 12 +& أ*��"���� آ& ���ا أ-", $# ا�  ؟ �� ا

 

   +& 19��5 �ـــ t 4,75  وزن �415. وه# $1ر/. -   6         

= ا��ا4> 50 -                 >� kg 64 آ
= �� ا�?<� وزن ا

                    -  100 �� =

@  آA<�
= ا��ا4> ا>�  kg 50وزن ا

   -   40 �� =

= ا��ا4> ا�C>س   آ>�  kg 50وزن ا

�. ب   	ه@ –  أ �D��  tآ�
.  ا


� +�D� أآ�E ��  –ب F�?+ G ة�F�A ور $�ق�D�
� �Kا�J ؟t15ه�  �D<�19 ا�   

  

  

  

 ا�ـ,D+2ـ� اBدارة ا�ب أو ا�%�@

 

 

 

 

  

 

Eــــــ)Fا: ....................................................................  
  : �ـ
ـ	ر�ـGا

 : ا�ــIــ%ج

 B          ا�
ا��� ا�
�اK@:  ا�ـ,&
%ى

20  

1.5 

1.5 

1.5 

1.5 

1 

1.5 



  

 

 7 –    

  E1 إ R ا�:�ول ا�
	�@ أ(O+F  P9I ا��56-أ          

        

 vا�,&	+� �	�%+�ة  uا�,&	+� �	�%+�ة   

      ا��56

 


TI; P� 5�U ا�,&	+�  > ا��56 أ(P9I –ب         &  E)أر  

  

  

1.5 


